| A TZW [H

REVISIONS RELEASED |
—-I>>\“U§> REV.! DESCRIPTION DATE APPROVED
M 133697 |REDRAWN, FIND NOS 5 & 6 ADDED 97/09/12] R

_ ® |83
CH

“ @ o

406 W — Al o . oA2
7 3.000 7 4.00 MAX. B1O——"
i
—® B2 m
\m@@ © s ] 2 ﬂ
@ |m i 20— |
] i | _—

2 SEE NOTE 2
\ - d X1 O
3/8-24 UNF-2A ]_M

4 STUDS

3.000
4.06 MAX,

X2

<
Qe

NG V) un
, S = B~32UNC~2A {1 5
@ —7Z— 7 STUDS s
¥ e :
T ] 1 W
n\ NOTES: 5
VENT .196£.005 HOLE 1. MEETS THE APPLICABLE PORTIONS OF MiL-C-5026
(LOCAT 0N 4 MTG. HOLES
OPTI1ONAL} 2. WHEN REQUIRED BY CUSTOMER
MAXIMUM OPERATING VOLTAGE 29 VOLTS 121 4 151200020 1 SCREW No.4 x 1/4 FAN HD. SHT MET, S. STEEL
P1CKUP VOLTAGE 18 VOLTS MAY 11| 1 158400062 | PLATE - FAA/PMA
10177 151808-064 { WASHER — LOCK Ne.8 SPLIT BRONZE
DROPOUT VOLTAGE 712 5 voLTS MAX § | 4 |51807-084 | WASHER — LOCK 3/8 SPLIT BRONZE
§ 1 7 |50408-034 | NUT No.B8—32 X 5/16 X a/32 HEX ERASS
RATED LOAD, RESISTIVE 600 AMPS 7 4 | 50407-164 [ NUT 3/8-24 X 5/8 X 7,32 HEX BRASS
<] 1 [39529~024 | OVERLAY
COlL. CURRENT AT 29V & 25°C .6 AMP =TT T35559-001 | GVERLAY
4 1 1 |40027-010 | CONTACTOR ASSEMBLY—PR IMARY
MINIMUM OPERATING CYCLES 50,000 3 T T56043-001 | PLATE = NAME
MAX IMUM WE |GHT 3 LBS 3 07 2 | 1 113326—-001 | PLATE ~ BASE COVER
1| 1 |13325~004 | PLATE ~ BASE COVER
RATED DUTY OF COIL CONT INUQUS Fino | ary PART OR NOMENCLATURE OR FSOM CRAWING OR MATER AL
N0 | REGD | IDENTIFYING NC DESCRIPTION N SPECIFICATION OR NOTE
NOMINAL COIL VOLTAGE 24-28 VOLTS
D . HARTMAN ELECTRICAL MANUFACTURING
AUX CONTALCT RATING 5 AMP TOLERANCES 08 i AT ‘\,Uw MANSF IELD, OHIC
2 PL 9EC.|3 PL DEC.JANGLES
+.03 |t.p10 | & 1+ |DR BY 97,/10,02 CONTACTOR-~CONT INUGCUS
CHK BY 97/ 10/p2]
ENGR ) |9)id o7 DUTY, 8600 AMP
MFEGICA. G2mio7 093
RELEASE LA SIZE | CODE IDENT JOWG NG,
CONTR NO. —
L C [74063|  A-T12W
SCALE 1:2 | [SHEET



https://www.oneyac.com

B NE AR EN, AT, SRR A ISR E B

Downloaded From | Oneyac.com


https://www.oneyac.com/brand/1062.html
https://www.oneyac.com

	>>TE Connectivity(泰科)

